

SOME PROPERTIES OF THE SUM OF LINEAR OPERATORS IN THE NON-DIFFERENTIAL CASE

Bruno de Malafosse¹

Abstract. In this paper we recall some results concerning an application of the sum of linear operators in the infinite matrix theory. Then, we give several extensions of these results in order to obtain new properties of infinite linear systems.

AMS Mathematics Subject Classification (2000): 46A15, 35A35

Key words and phrases: Infinite linear system, interpolation space, unital algebra, infinite matrix

1. Introduction

The theory of the sum of operators is well known, and has been studied by many authors such as Da Prato and Grisvard [1,2], Furman [3], R. Labbas and B. Terreni [7,8]. It can also be found in the work of de Malafosse [15], giving an application of the sum of operators in the infinite matrix theory in the commutative case. The aim is to study the equation

$$(1) \quad A.X + B.X - \lambda X = Y, \quad \lambda > 0$$

in a Banach space E , where Y is given in E and A, B are two closed linear operators with domains $D(A), D(B)$ included in E . This work extends the results obtained in the paper [6], entitled: "An application of the sum of linear operators in infinite matrix theory", where E is not reflexive. Here, equation (1) is regarded as an infinite linear system in the space $E = l^\infty$. $A + B$ is considered as the sum of two particular infinite matrices defined respectively on $D(A) = s_{(1/a_n)_n}$ and $D(B) = s_{1/\beta}$. In our case, it has been proved that the operators $(-A)$ and $(-B)$ are generators of analytic semigroups. The relative boundedness with respect A or B being not satisfied, the classical perturbation theory given by Kato [4] or Pazy [18], cannot be applied. The choice of the two infinite matrices is motivated by the resolution of a class of non-symmetric linear infinite systems. Note that some results concerning the infinite matrices of operators are given in Maddox [9].

This work is organized as follows. In Section 2 are recalled the definitions and properties of some Banach spaces of infinite matrices used in R. Labbas and B. de Malafosse [5] and de Malafosse [11, 12, 14, 16]. We also give the main

¹LMAH Université du Havre, I.U.T., B.P 4006, Le Havre FRANCE.

results of the sum-strategy as in Labbas-Terreni [7] and define the two infinite matrices A and B regarded as two unbounded linear operators on $E = l^\infty$ and study their sum. In Section 3 are used the regularity property of A in order to give results on the sum of operators in the non-differential case. Further, we apply the previous results to new matrices obtained from the matrix $A+B+\lambda I$. Then, we deal with the linear infinite system $(A+B+\lambda I) \cdot X = Y$ for $\lambda \geq 0$. Finally, we study the properties of ${}^t(A+B+\lambda I)$ when the trace of the kernull of the operator $A+B+\lambda I$ on $D(A) \cap D(B)$ is not reduced to $\{0\}$.

2. Recall of definitions and properties

2.1. Spaces S_c and s_c

For a sequence $c = (c_n)$, where $c_n > 0$ for every integer $n \geq 1$, we define the Banach algebra

$$(2) \quad S_c = \left\{ M = (a_{nm})_{n,m \geq 1} \mid \sup_{n \geq 1} \left(\sum_{m=1}^{\infty} |a_{nm}| \frac{c_m}{c_n} \right) < \infty \right\},$$

normed by

$$\|M\|_{S_c} = \sup_{n \geq 1} \left(\sum_{m=1}^{\infty} |a_{nm}| \frac{c_m}{c_n} \right),$$

see [10, 12, 14, 16, 17]. We also define the Banach space s_c of one-row matrices by

$$(3) \quad s_c = \left\{ X = (x_n)_n \mid \sup_n \left(\frac{|x_n|}{c_n} \right) < \infty \right\},$$

normed by

$$(4) \quad \|X\|_{s_c} = \sup_n \left(\frac{|x_n|}{c_n} \right).$$

If $c = (c_n)_n$, and $c' = (c'_n)_n$ are two sequences such that $0 < c_n \leq c'_n \forall n$, then:

$$s_c \subset s_{c'}.$$

A very useful particular case is the one when $c_n = r^n$, $r > 0$. We denote then by S_r and s_r the spaces S_c and s_c . When $r = 1$ we obtain the space of the bounded sequences $l^\infty = s_1$.

If $\|I - M\|_{S_c} < 1$ we shall say that A satisfies the condition Γ_c . If $c = (r^n)$, Γ_c is replaced by Γ_r .

S_c being a unital algebra, we have the useful result:

if M satisfies the condition Γ_c , M is invertible in the space S_c and for every $B \in s_c$ the equation $MX = B$ admits one and only one solution in s_c given by

$$(5) \quad X = \sum_{n=0}^{\infty} (I - M)^n B.$$

Similarly, we define the Banach algebra S_r with unit element $I = (\delta_{nm})_{n,m \geq 1}$, (with $\delta_{nm} = 0$ if $n \neq m$, and $\delta_{nn} = 1$) by

$$(6) \quad S_r = \left\{ M = (a_{nm})_{n,m \geq 1} \mid \sup_n \left(\sum_m |a_{nm}| r^{m-n} \right) < \infty \right\}$$

normed by

$$(7) \quad \|M\|_{S_r} = \sup_n \left(\sum_m |a_{nm}| r^{m-n} \right),$$

see [10-13]. Let us recall that the product of two matrices of S_r belongs to this space and

$$\forall M \in S_r \quad \forall X \in s_r : MX \in s_r$$

with $\|MX\|_{s_r} \leq \|M\|_{S_r} \|X\|_{s_r}$.

2.2. Sum of linear operators

We recall here some results given in Da Prato-Grisvard [1] and Labbas-Terreni [7]. E being a Banach space, we consider two closed linear operators A and B , whose domains are $D(A)$ and $D(B)$ included in E . For every $X \in D(A) \cap D(B)$ we then define their sum $SX = AX + BX$.

The spectral properties of A and B are:

$$(H_1) \left\{ \begin{array}{l} \exists C_A, C_B > 0, \varepsilon_A, \varepsilon_B \in]0, \pi[\text{ such that} \\ i) \rho(A) \supset \Sigma_A = \{z \in C / |Arg(z)| < \pi - \varepsilon_A\} \\ \left\| (A - zI)^{-1} \right\|_{L(E)} \leq \frac{C_A}{|z|}, \forall z \in \Sigma_A - \{0\}, \\ ii) \rho(B) \supset \Sigma_B = \{z \in C / |Arg(z)| < \pi - \varepsilon_B\} \\ \left\| (B - zI)^{-1} \right\|_{L(E)} \leq \frac{C_B}{|z|}, \forall z \in \Sigma_B - \{0\}, \\ iii) \varepsilon_A + \varepsilon_B < \pi \end{array} \right.$$

Here, we are not in the commutative case, that is:

$$(A - zI)^{-1} (B - z'I)^{-1} - (B - z'I)^{-1} (A - zI)^{-1} = \left[(A - zI)^{-1}, (B - z'I)^{-1} \right],$$

is not equal to zero for all $z \in \rho(A)$ and $z' \in \rho(B)$. Furthermore, the density of $D(A)$ and $D(B)$ being not true, we must assume that (see Labbas-Terreni [7], [8])

$$(H_2) \left\{ \begin{array}{l} \exists C > 0, k \in N, (\xi_i)_{1 \leq i \leq k}, (\eta_i)_{1 \leq i \leq k} \text{ such that} \\ \forall i \geq 1 : 0 \leq 1 - \xi_i < \eta_i \leq 2 \text{ and} \\ \left\| \mu A (A - \lambda I)^{-1} \cdot \left[A^{-1}; (B + \mu I)^{-1} \right] \right\|_{L(E)} \leq K(\varepsilon_A, \varepsilon_B) \sum_{i=1}^k |\lambda|^{-\xi_i} |\mu|^{-\eta_i} \\ \text{for } |\lambda|, |\mu| \rightarrow \infty; \lambda \in \rho(A), \mu \in \rho(B). \end{array} \right.$$

Now introduce the real interpolation space between $D(A)$ and E , defined for all $\sigma \in]0, 1[$ by

$$(8) \quad D_A(\sigma, \infty) = \left\{ X \in E \ / \sup_{z \in \Gamma} \left\| z^\sigma A (A - zI)^{-1} X \right\|_E < \infty \right\},$$

Γ being a simple infinite sectorial curve lying in $\rho(A - \lambda I) \cap \rho(-B)$. Here we have

$$D_A(\sigma, \infty) = \left\{ X \in E \ / \sup_{t > 0} \left\| t^\sigma A (A + tI)^{-1} X \right\|_E < \infty \right\}.$$

In the same way $D_B(\sigma, \infty)$ denotes the interpolation space between $D(B)$ and E . Now we can express the main result given in [8], where

$$\delta = \min_{1 \leq i \leq k} (\xi_i + \eta_i - 1) > 0.$$

Theorem 1. *Suppose that (H_1) and (H_2) are satisfied. There exists λ^* such that $\forall \lambda \geq \lambda^*$ and $\forall Y \in D_A(\sigma, \infty)$ equation $[A + B - \lambda I] \cdot X = Y$ has a unique solution X_0 in the space $D(A) \cap D(B)$ such that*

- i) $(A - \lambda I) X_0 \in D_A(\theta, \infty) \quad \forall \theta \in]0, \min(\sigma, \delta)[,$
- ii) $BX_0 \in D_A(\theta, \infty) \quad \forall \theta \in]0, \min(\sigma, \delta)[,$
- iii) $(A - \lambda I) X_0 \in D_B(\theta, \infty) \quad \forall \theta \in]0, \min(\sigma, \delta)[.$

2.3. Definition of operators A and B

As in [6], we apply the results of the previous subsections to particular matrices.

Let A be the infinite matrix:

$$(9) \quad \begin{bmatrix} a_1 & b_1 & & O \\ & \cdot & & \\ O & & a_n & b_n \\ & & & \cdot \end{bmatrix},$$

where (a_n) and (b_n) satisfy

$$(10) \quad \begin{cases} \text{i) } a_n > 0 \ \forall n, \ (a_n) \text{ is strictly increasing, and } \lim_{n \rightarrow \infty} a_n = \infty \\ \text{ii) } \exists M_A > 0 \text{ such that: } |b_n| \leq M_A \text{ for all } n. \end{cases}$$

In the same way we denote by B the lower triangular matrix

$$(11) \quad \begin{bmatrix} \beta_1 & & & O \\ \cdot & & & \\ O & \gamma_n & \beta_n & \\ & & & \cdot \end{bmatrix},$$

where $(\beta_n)_n$ and $(\gamma_n)_n$ satisfy:

$$(12) \quad \begin{cases} \text{i) } \beta_n > 0 \quad \forall n, \text{ and } \beta_{2n} \rightarrow L, \\ \text{ii) } (\beta_{2n+1}/a_{2n+1})_n \rightarrow \infty, \\ \text{iii) } \exists M_B > 0 \text{ such that } |\gamma_n| \leq M_B \text{ for all } n. \end{cases}$$

A is defined on $D(A) = s_{(1/a_n)_n}$ and B is defined on $D(B) = s_{(1/\beta_n)_n}$, these spaces being included in $E = l^\infty = s_1$. We deduce from (12) i), ii) that $D(A)$ is not included in $D(B)$ and $D(B)$ is not included in $D(A)$. In [6], the following results are proved:

Proposition 2. *In the Banach space E the two linear operators A and B are closed and satisfy*

- i) $D(A) = s_{(1/a_n)_n} = \{X = (x_n) / a_n x_n = O(1) \ (n \rightarrow \infty)\}$,
- ii) $D(B) = s_{(1/\beta_n)_n}$,
- iii) $\overline{D(A)} \neq s_1, \overline{D(B)} \neq s_1$.
- iv) *There exist numbers $\varepsilon_A, \varepsilon_B > 0$ (with $\varepsilon_A + \varepsilon_B < \pi$) such that*

$$\begin{aligned} \|(A - \lambda I)^{-1}\|_{L(s_1)} &\leq \frac{M}{|\lambda|}, \quad \forall \lambda \neq 0 \text{ and } |\text{Arg}(\lambda)| \geq \varepsilon_A, \\ \|(B + \mu I)^{-1}\|_{L(s_1)} &\leq \frac{M}{|\mu|}, \quad \forall \mu \neq 0 \text{ and } |\text{Arg}(\mu)| \leq \pi - \varepsilon_B. \end{aligned}$$

Now let us consider the following additional assumption on A

$$(13) \quad \sup_{n \geq 1} \left(\frac{|b_{n-1}| \beta_n}{a_n} \right) < \infty.$$

Then we have [6]

Proposition 3. *Under (10), (12), and (13) there exists a constant $K(\varepsilon_A, \varepsilon_B) > 0$ such that*

$$\left\| \mu A (A - \lambda I)^{-1} \cdot [A^{-1}; (B + \mu I)^{-1}] \right\|_{L(s_1)} \leq K(\varepsilon_A, \varepsilon_B) \left[\frac{1}{|\lambda| |\mu|} + \frac{1}{|\mu|^2} \right],$$

$\forall \lambda \neq 0$ such that $|\text{Arg}(\lambda)| \geq \varepsilon_A$ and $\forall \mu \neq 0$ such that $|\text{Arg}(\mu)| \leq \pi - \varepsilon_B$.

As we deal with the non-commutative case, we must use the interpolation space defined in (8). It has been proved in [6] that for all $\theta \in]0, 1[$

$$D_A(\theta, \infty) = s_{(1/a_n^\theta)} = \left\{ X = (x_n) / \sup_{t > 0} \|t^\theta A (A + tI)^{-1} X\|_{s_1} < \infty \right\}.$$

Then we can assert the following result:

Theorem 4. *A and B satisfy the hypotheses (10), (12), (13). For any $\theta \in]0, 1[$ there exists λ^* such that $\forall \lambda \geq \lambda^*$ and $\forall Y \in s_{(1/a_n^\theta)}$, the linear infinite system $(-A - B - \lambda I) \cdot X = Y$ has a unique solution X_0 in the space $D(A) \cap D(B) = s_{(1/a_n)} \cap s_{(1/\beta_n)}$ such that*

- i) $(A + \lambda I) X_0 \in s_{(1/a_n^\theta)}$,
- ii) $BX_0 \in s_{(1/a_n^\theta)}$.

Remark 1. *It is easy to see that $s_{(1/a_n)} \cap s_{(1/\beta_n)} = s_d$, where $d = (d_n)_n$ is defined by*

$$d_n = \begin{cases} \frac{1}{a_{2k}} & \text{if } n = 2k, \\ \frac{1}{\beta_{2k+1}} & \text{otherwise.} \end{cases}$$

Corollary 5. *Conditions i) and ii) in Theorem 4 are equivalent to the condition $AX_0 \in s_{(1/a_n^\theta)}$.*

Proof. First we see that for every $\theta \in]0, 1[$, $s_d \subset s_{(1/a_n^\theta)}$. In fact, take $X = (x_n)_n \in s_d$. Since we have (10) i), $x_{2n} = O(1/a_{2n})$ implies $x_{2n} = O(1/a_{2n}^\theta)$ as $n \rightarrow \infty$. And from (12) ii), $x_{2n+1} = O(1/\beta_{2n+1})$ implies $x_{2n+1} = O(1/a_{2n+1}^\theta)$ as $n \rightarrow \infty$. Then $X \in s_{(1/a_n^\theta)}$. We deduce that $Z_0 = (A + \lambda I) X_0 \in s_{(1/a_n^\theta)}$ is equivalent to

$$AX_0 = Z_0 - \lambda X_0 \in s_{(1/a_n^\theta)}.$$

Elsewhere i) \Leftrightarrow ii), since $BX_0 = (A + B + \lambda I) \cdot X_0 - Z_0 \in s_{(1/a_n^\theta)}$. \square

3. New properties of the operator $A + B$, in the non-differential case

3.1. Consequence of the regularity property

More precisely, from i) in Theorem 4 we have:

Corollary 6. *The unique solution $X_0 = (x_n^0)$ satisfies the following property*

$$\forall \sigma \in]0, \theta[\quad x_n^0 = \frac{o(1)}{a_n^{\sigma+1}} \quad (n \rightarrow \infty).$$

Proof. From Corollary 5 we deduce that $AX_0 \in s_{(1/a_n^\theta)}$ implies that there exists a real $K > 0$ such that $\forall \sigma \in]0, \theta[$, $\forall n$

$$a_n^\sigma |a_n x_n^0 + b_n x_{n+1}^0| \leq \frac{K}{a_n^{\theta-\sigma}}.$$

Then

$$(14) \quad a_n^\sigma (a_n x_n^0 + b_n x_{n+1}^0) = o(1) \quad (n \rightarrow \infty).$$

On the other hand, (10) i) implies that there exists $K > 0$ such that

$$(15) \quad |b_n a_n^\sigma x_{n+1}^0| \leq \begin{cases} \frac{K a_{2k}^\sigma}{\beta_{2k+1}} & \text{if } n = 2k, \\ \frac{K a_{2k+1}^\sigma}{a_{2k+2}} & \text{if } n = 2k + 1. \end{cases}$$

Using (10) i) and (12) ii) we deduce that $b_n a_n^\sigma x_{n+1}^0 = o(1)$ ($n \rightarrow \infty$), and from (15) we conclude that $a_n^{\sigma+1} x_n^0 = o(1)$ as n tends to infinity. \square

3.1.1. Numerical application

Assume here that $a_n = \alpha^n$ with $\alpha > 1$ and consider the matrix $M_\lambda(t_1) = (A + B + \lambda I)(t_1)$ obtained from $A + B + \lambda I$, by adding the supplementary row $t_1 = (0, \alpha^{2\omega}, 0, \alpha^{4\omega}, \dots)$ with $1 \leq \omega < 2$. $Y(u)$ is the matrix obtained from Y by adding the number u . From the regularity property we get

$$\forall \sigma \in]0, \theta[\quad x_{2n}^0 = \frac{o(1)}{\alpha^{2n(\sigma+1)}} \quad (n \rightarrow \infty),$$

for any $\theta \in]0, 1[$. We deduce that $\exists C > 0$ such that $\alpha^{2\omega m} |x_{2m}^0| \leq C/\alpha^{2m(\sigma+1-\omega)}$. Thus, the series $\sum_m \alpha^{2\omega m} |x_{2m}^0|$ is convergent, since for a given $\omega \in [1, 2[$ one can associate $\theta \in]0, 1[$ and $\sigma \in]0, \theta[$, such that $\sigma + 1 - \omega > 0$. Then the product $M_\lambda(t_1) X_0$ exists and belongs to the space $s_{(1/\alpha^{n\theta})}$. The equation $M_\lambda(t_1) X = Y(u)$, where $Y \in s_{(1/\alpha^{n\theta})}$ admits a unique solution in s_d if and only if $u = \sum_m \alpha^{2\omega m} x_{2m}^0$. Notice that the property: $X_0 \in D(A) \cap D(B) = s_d$ is not sufficient to assure the convergence of the series $\sum_m \alpha^{2\omega m} x_{2m}^0$.

3.2. Expression of the solution in the Banach space s_d

In this section, we use only the hypotheses (10), (12) and the following supplementary condition

$$(16) \quad \left(\frac{a_{2n}}{a_{2n-1}} \right) \in s_1.$$

Then we obtain the expression of the solution X_0 in Theorem 4 for any second member $Y \in s_1$. So we shall see that there exists $Y \in s_1 - s_{(1/a_n^\theta)}$ such that the equation $(A + B + \lambda I) X = Y$ admits a solution in the space $D(A) \cap D(B)$ satisfying the property $A X_0 \notin s_{(1/a_n^\theta)}$. In the case we shall study, this means that $(A + B + \lambda I)$ is a bijection from $D(A) \cap D(B)$ into l^∞ .

For the following results we shall put $\nu_n = a_n + \beta_n$ for short.

Proposition 7. *There exists $\lambda^* > 0$ such that $\lambda \geq \lambda^*$ implies that for every $Y \in s_1$ equation*

$$(17) \quad (A + B + \lambda I) X = Y$$

admits in $D(A) \cap D(B) = s_d$ a unique solution which can be written in the form

$$(18) \quad X_0 = \sum_{n=0}^{\infty} [I - D_\lambda (A + B + \lambda I)]^n D_\lambda Y,$$

where $D_\lambda = \left(\frac{\delta_{nm}}{\nu_n + \lambda} \right)_{n,m \geq 1}$.

Proof. (17) is equivalent to

$$D_\lambda [(A + B + \lambda I) X] = D_\lambda Y$$

itself equivalent to

$$(19) \quad [D_\lambda (A + B + \lambda I)] X = D_\lambda Y.$$

We see that

$$D_\lambda (A + B + \lambda I) = \begin{pmatrix} 1 & \frac{b_1}{\nu_1 + \lambda} & & & \\ \frac{\gamma_2}{\nu_2 + \lambda} & 1 & \frac{b_2}{\nu_2 + \lambda} & & O \\ O & \cdot & \cdot & \cdot & \\ O & & \frac{\gamma_n}{\nu_n + \lambda} & 1 & \frac{b_n}{\nu_n + \lambda} \\ & & & \cdot & \cdot \end{pmatrix}.$$

We get

$$\|D_\lambda (A + B + \lambda I) - I\|_{S_\delta} = \sup \left(\sup_{n \geq 1} (\mu_n), \sup_{n \geq 1} (\mu'_n) \right),$$

where

$$(20) \quad \mu_n = \left| \frac{\gamma_{2n}}{\nu_{2n} + \lambda} \right| \frac{a_{2n}}{\beta_{2n-1}} + \left| \frac{b_{2n}}{\nu_{2n} + \lambda} \right| \frac{a_{2n}}{\beta_{2n+1}},$$

and

$$(21) \quad \mu'_n = \left| \frac{\gamma_{2n+1}}{\nu_{2n+1} + \lambda} \right| \frac{\beta_{2n+1}}{a_{2n}} + \left| \frac{b_{2n+1}}{\nu_{2n+1} + \lambda} \right| \frac{\beta_{2n+1}}{a_{2n+2}}.$$

We see that the sequence defined by

$$\rho_n = |\gamma_{2n}| \frac{a_{2n}}{\beta_{2n-1}} + |b_{2n}| \frac{a_{2n}}{\beta_{2n+1}},$$

is bounded. Indeed, from (12) and (16) ii) the sequence defined by

$$\frac{a_{2n}}{\beta_{2n-1}} = \frac{a_{2n}}{a_{2n-1}} \frac{a_{2n-1}}{\beta_{2n-1}}$$

is bounded. It is the same for the sequence $\left(\frac{a_{2n}}{\beta_{2n+1}} \right)$, since (a_n) is strictly increasing. Taking $\lambda > \xi = \sup_{n \geq 1} (\rho_n)$, we have $\sup_{n \geq 1} (\mu_n) < 1$. Further, we deduce from (10) and (12) that there exists an integer N such that

$$\sup_{n \geq N+1} \left(\frac{|\gamma_{2n+1}|}{a_{2n}} + \frac{|b_{2n+1}|}{a_{2n+2}} \right) < 1,$$

which implies that $\sup_{n \geq N+1} (\mu'_n) < 1$. Let now

$$\xi'_N = M_B \sup_{n \leq N} \left(\frac{\beta_{2n+1}}{a_{2n}} \right) + M_A \sup_{n \leq N} \left(\frac{\beta_{2n+1}}{a_{2n+2}} \right).$$

If $\lambda \geq \xi'_N$ we have $\sup_{n \leq N} (\mu'_n) < 1$ and

$$\sup_n (\mu'_n) = \sup \left(\sup_{n \leq N} (\mu'_n), \sup_{n \geq N+1} (\mu'_n) \right) < 1.$$

Put now $\lambda^* = \sup(\xi, \xi'_N)$. If $\lambda > \lambda^*$

$$\sup \left(\sup_{n \geq 1} (\mu_n), \sup_{n \geq 1} (\mu'_n) \right) < 1$$

and the matrix $D_\lambda (A + B + \lambda I)$ satisfies the condition Γ_d . So, (17) admits a unique solution X_0 in $D(A) \cap D(B) = s_d$ for every Y such that

$$D_\lambda Y = \left(\frac{y_n}{\nu_n + \lambda} \right) \in s_d.$$

The previous property is also satisfied for all $Y \in s_1$, since

$$a_{2n} \left| \frac{y_{2n}}{\nu_{2n+1} + \lambda} \right| = O(1), \quad \beta_{2n+1} \left| \frac{y_{2n+1}}{\nu_{2n+1} + \lambda} \right| = O(1),$$

as n tends to infinity. Then we can write X_0 in the form (18). \square

3.3. Resolution of systems obtained from the preceding

In this subsection we suppose that A and B satisfied (10), (12) and (13). We are going to generalize the results of Theorem 4, in which $A + B + \lambda I$ was an infinite tridiagonal matrix. So, we shall use an infinite upper triangular matrix $P = (p_{nm})_{n,m \geq 1} \in S_1$ such that $p_{nn} = 1 \ \forall n$, and consider the infinite matrix $C = (c_{nm})_{n,m \geq 1}$ defined by

$$c_{nm} = \begin{cases} \nu_1 + \lambda + p_{12}\gamma_2 & \text{if } m = n = 1, \\ p_{1m-1}b_{m-1} + p_{1m}(\nu_m + \lambda) + p_{1m+1}\gamma_{m+1} & \text{if } n = 1, m \geq 2, \\ p_{nn-1}\gamma_{n-1} & \text{if } n \geq 3, m = n - 2, \\ p_{nn-1}(\nu_{n-1} + \lambda) + \gamma_n & \text{if } n \geq 2, m = n - 1, \\ p_{nn-1}b_{n-1} + \nu_n + \lambda + p_{nn+1}\gamma_{n+1} & \text{if } n \geq 2, m = n, \\ p_{nm}b_m + p_{nm+1}(\nu_{m+1} + \lambda) + p_{nm+2}\gamma_{m+2} & \text{if } n \geq 2, m \geq n + 1, \end{cases}$$

the other elements corresponding to $1 \leq m \leq n - 2$ with $n \geq 3$ being equal to zero.

Proposition 8. *Let $\theta \in]0, 1[$, and assume that the sequence $(p_{nm})_{n,m \geq 1}$ satisfies*

$$(22) \quad \sup_n \left[\sum_{m=n+1}^{\infty} |p_{nm}| \left(\frac{a_n}{a_m} \right)^\theta \right] < 1.$$

There exists $\lambda^ > 0$ such that for every $\lambda \geq \lambda^*$ and $Y \in s_{(1/a_n^\theta)_n}$ the system defined by*

$$\sum_{m \geq 1} c_{nm} x_m = y_n \quad (n = 1, 2, \dots)$$

admits a unique solution X_0 in s_d such that $AX_0 \in s_{(1/a_n^\theta)_n}$.

Proof. We deduce from (22) that P satisfies the condition $\Gamma_{(1/a_n^\theta)_n}$, i.e.

$$(23) \quad \|I - P\|_{S_{(1/a_n^\theta)_n}} < 1.$$

We have $C = P(A + B + \lambda I)$. And since $P \in S_1$ the series of general terms $p_{nm} \gamma_{m-1} x_{m-1}$, $p_{nm} (a_m + \beta_m) x_m$ and $p_{nm} b_{m+1} x_{m+1}$, are absolutely convergent. We deduce that the matrix equation $CX = Y$ is equivalent to

$$P[(A + B + \lambda I)X] = Y$$

and to

$$(A + B + \lambda I)X = P^{-1}Y.$$

Using (23), we have $P^{-1} \in S_{(1/a_n^\theta)_n}$, then $P^{-1}Y \in s_{(1/a_n^\theta)_n}$ and Theorem 4 can be applied. \square

This method allows us to consider systems having a zero on the main diagonal. In this case, there exists no sequence $c = (c_n)$, ($c_n > 0, \forall n$), such that the matrix of the coefficients satisfies the condition Γ_c . Taking $\lambda_0 > \lambda^*$, we deduce from the preceding, the following result:

Corollary 9. *Let $(\alpha_n)_{n \geq 2}$ be any sequence and $\theta \in]0, 1[$. Consider the system*

$$(S_1) \quad \begin{cases} (b_1 \gamma_2 - \nu'_1 \nu'_2) x_2 - \nu'_1 b_2 x_3 = y_1, \\ \gamma_n x_{n-1} + (\nu'_n + \alpha_n \gamma_{n+1}) x_n + (b_n + \alpha_n \nu'_{n+1}) x_{n+1} + \alpha_n b_{n+1} x_{n+2} = y_n, \\ n \geq 2, \end{cases}$$

where $\nu'_n = \nu_n + \lambda_0$, and $\gamma_2 \neq 0$. Assume that

$$(24) \quad \frac{\nu'_1}{|\gamma_2|} \left(\frac{a_1}{a_2} \right)^\theta < 1 \quad \text{and} \quad \sup_{n \geq 2} \left(|\alpha_n| \left(\frac{a_n}{a_{n+1}} \right)^\theta \right) < 1.$$

Then for all $Y \in s_{(1/a_n^\theta)_n}$, the system (S_1) admits a unique solution $X_0 = (x_n^0)_n$ in s_d such that

$$\sup_{n \geq 1} (a_n^\theta |a_n x_n^0 + b_n x_{n+1}^0|) < \infty.$$

Proof. Define here the infinite matrix $P = (p_{nm})_{n,m}$ by $p_{nm} = 0$ for every n, m such that $m \neq n, n+1$; $p_{nn} = 1$ for all $n \geq 1$; $p_{12} = -\frac{\nu'_1}{\gamma_2}$, and $p_{nn+1} = \alpha_n \forall n \geq 2$. (24) implies that $\|I - P\|_{S(1/a_n^{\theta})} < 1$. Doing the product $P(A + B + \lambda_0 I)$ we get the matrix:

$$\begin{pmatrix} 0 & b_1 - \frac{\nu'_1 \nu'_2}{\gamma_2} & -\frac{\nu'_1}{\gamma_2} b_2 & 0 & & & \\ \gamma_2 & \nu'_2 + \alpha_2 \gamma_3 & b_2 + \alpha_2 \nu'_3 & \alpha_2 b_3 & & O & \cdot \\ \cdot & \cdot & \cdot & \cdot & & \cdot & \cdot \\ & & \gamma_n & \nu'_n + \alpha_n \gamma_{n+1} & b_n + \alpha_n \nu'_{n+1} & \alpha_n b_{n+1} & \\ & & & \cdot & \cdot & \cdot & \\ O & & & \cdot & \cdot & \cdot & \cdot \end{pmatrix}.$$

We conclude reasoning as above. \square

3.4. Study of equation $(A + B + \lambda I)X = Y$, for $\lambda \geq 0$

In this subsection we suppose that (10), (12) and (16) hold. Let κ be an integer and denote here $t_1 = \left(1, \frac{b_1}{\nu_1 + \lambda}, 0, \dots\right)$ and

$$t_n = \left(0, \dots, \frac{\gamma_n}{\nu_n + \lambda}, 1, \frac{b_n}{\nu_n + \lambda}, 0, \dots\right),$$

where $2 \leq n \leq \kappa$. t_1, \dots, t_κ are the κ first rows of $D_\lambda(A + B + \lambda I)$. Let Q_κ be the matrix obtained from $D_\lambda(A + B + \lambda I)$ by replacing its κ first rows $t_1, t_2, \dots, t_\kappa$, by $e_1, e_2, \dots, e_\kappa$, where $e_n = (\dots, 0, 1, 0, \dots)$, (1 being in the n th position). We have $Q_\kappa = (q_{nm})_{n,m \geq 1}$ with $q_{nn} = 1$ for all n and for every $n > \kappa$ $q_{nn-1} = \frac{\gamma_n}{\nu_n + \lambda}$ and $q_{nn+1} = \frac{b_n}{\nu_n + \lambda}$, the other terms being equal to zero. Consider now the determinant

$$\Delta(\lambda) = \begin{vmatrix} 1 & \frac{b_1}{\nu_1 + \lambda} & 0 & \cdot & \cdot & t_1 X_\kappa \\ \frac{\gamma_2}{\nu_2 + \lambda} & 1 & \frac{b_2}{\nu_2 + \lambda} & 0 & \cdot & t_2 X_\kappa \\ 0 & \frac{\gamma_3}{\nu_3 + \lambda} & 1 & \frac{b_3}{\nu_3 + \lambda} & 0 & \cdot \\ \cdot & \cdot & \cdot & \cdot & \cdot & \cdot \\ \cdot & \cdot & \cdot & \cdot & 1 & t_{\kappa-1} X_\kappa \\ O & \cdot & \cdot & \cdot & \frac{\gamma_\kappa}{\nu_\kappa + \lambda} & t_\kappa X_\kappa \end{vmatrix},$$

and recall some definitions and results given in [16, 12, 13]. Let M be an infinite matrix. $M(t_1, t_2, \dots, t_k)$, where k is an integer, is the infinite matrix obtained from M by addition of the following rows

$$t_1 = (t_{1,m})_{m \geq 1}, t_2 = (t_{2,m})_{m \geq 1}, \dots, t_k = (t_{k,m})_{m \geq 1}, t_{ii} \neq 0 \quad (i = 1, 2, \dots, k),$$

where t_{ij} is any scalar. In the same way, set

$${}^tY(u_1, u_2, \dots, u_k) = (u_1, \dots, u_k, b_1, b_2, \dots),$$

and let $D(k)$ be the diagonal matrix whose elements are the inverses of the diagonal elements of $M(t_1, t_2, \dots, t_k) = (a'_{nm})$, that is, $D(k) = (a'^{-1}_{nn}\delta_{nm})$. Then we have the following result:

Proposition 10. *Let $c = (c_n)$ with $c_n > 0$ for all n be a sequence such that*

$$(25) \quad \|I - D(k)M(t_1, t_2, \dots, t_k)\|_{S_c} < 1,$$

and

$$(26) \quad D(k)Y(u_1, u_2, \dots, u_k) \in s_c,$$

then

i) solutions of $MX = Y$ in the space s_c are

$$X = [D(k)M(t_1, t_2, \dots, t_k)]^{-1}D(k)Y(u_1, u_2, \dots, u_k) \quad u_1, u_2, \dots, u_k \in C.$$

ii) The linear space $\text{Ker}M \cap s_c$ of the solutions of $MX = 0$ in the space s_c is of dimension k and is given by

$$(\text{Ker}M) \cap s_c = \text{span}(X_1, X_2, \dots, X_k)$$

where

$$X_i = [M(t_1, t_2, \dots, t_k)]^{-1} \cdot {}^t e_i, \quad i = 1, 2, \dots, k.$$

Remark 2. *The solutions given in i) can be also written as $X = X_0 + \sum_{i=1}^k u_i X_i$ where $X_0 = [D(k)M(t_1, t_2, \dots, t_k)]^{-1}D(k)Y(0, 0, \dots, 0)$ is a particular solution of $MX = Y$.*

From the preceding we can deduce the following result:

Proposition 11. *i) For all $\lambda \geq 0$ such that $\Delta(\lambda) \neq 0$, (17) admits a unique solution in s_d for all $Y \in s_1$.*

ii) If $\Delta(\lambda) = 0$, equation (17) where $Y \in s_1$, either does not admit any solution in s_d , or admits infinitely many solutions in s_d .

Proof. From (20) and (21) we see that μ_n tends to 0 as n tends to infinity and it is the same for μ'_n , since

$$0 \leq \mu'_n \leq \frac{M_B}{a_{2n}} + \frac{M_A}{a_{2n+2}}.$$

We deduce that there exists κ such that $\|I - Q_\kappa\|_{S_d} < 1$. Denote now by $P_{\kappa, \lambda}^*$ the matrix obtained from Q_κ by deleting its κ first rows and by $Y'_\kappa \in s_1$ the one

column matrix ${}^t Y'_\kappa = (y'_{\kappa+1}, y'_{\kappa+2}, \dots)$ with $y'_n = y_n / (\nu_n + \lambda)$. Applying Proposition 10 we see that equation $P_{\kappa, \lambda}^* X = Y'_\kappa$ admits infinitely many solutions defined for all scalars $u_1, u_2, \dots, u_\kappa$ by

$$(27) \quad X = (Q_\kappa)^{-1} \cdot {}^t (u_1, u_2, \dots, u_\kappa, y'_{\kappa+1}, y'_{\kappa+2}, \dots).$$

Let now

$$(28) \quad X_0 = (Q_\kappa)^{-1} \cdot {}^t (0, 0, \dots, 0, y'_{\kappa+1}, y'_{\kappa+2}, \dots).$$

It is easy to see that the $\kappa - 1$ first rows of $(Q_\kappa)^{-1}$ are $e_1, e_2, \dots, e_{\kappa-1}$, and if we denote by X_κ its κ -th column we deduce, using (27) and (28), that

$$(29) \quad X = X_0 + \sum_{i=1}^{\kappa-1} u_i e_i + u_\kappa X_\kappa.$$

Replacing now these solutions in the κ first equations of the system

$$D_\lambda [(A + B + \lambda I) X] = D_\lambda Y,$$

(D_λ defined in Proposition 7), we obtain the finite linear system $t_n X = y'_n$, $n = 1, 2, \dots, \kappa$. This one is equivalent to

$$(S) \quad \sum_{i=1}^{\kappa-1} u_i t_n e_i + u_\kappa t_n X_\kappa = y'_n - t_n X_0 \quad n = 1, 2, \dots, \kappa,$$

where $u_1, u_2, \dots, u_\kappa$ are the unknowns. Doing the calculations of $t_n e_i$, ($1 \leq n \leq \kappa$, $1 \leq i \leq \kappa - 1$) we deduce that $\Delta(\lambda)$ is the determinant of the coefficients of (S). One can apply the well-known results on finite linear systems and conclude, considering the cases where $\Delta(\lambda)$ is equal to 0 or not. This completes the proof. \square

In the case when $\Delta(\lambda) = 0$, we have the following property: if $b_n \neq 0, \forall n$, the rank of the system (S) is equal to $\kappa - 1$. In fact, it suffices to adapt Proposition 10 and apply this one to the matrix triangle obtained from $D_\lambda(A + B + \lambda I)$, by adding the row e_1 . Thus,

$$\dim [Ker D_\lambda(A + B + \lambda I)] \cap s_d = 1.$$

Then we can suppose for instance that the determinant $\Delta'_\kappa(\lambda)$, obtained from $\Delta(\lambda)$ by striking out the κ th row and the κ th column, is not equal to 0. Considering then the determinant $\Delta'_Y(\lambda)$ obtained from $\Delta(\lambda)$ by replacing the κ th column by y''_1, \dots, y''_κ with $y''_n = y'_n - t_n X_0$, ($1 \leq n \leq \kappa$) we have

Corollary 12. Assume that $\Delta(\lambda) = 0$.

i) If $Y \in s_1$ satisfies $\Delta'_Y(\lambda) \neq 0$, equation (17) does not admit any solution.

ii) If $\Delta'_Y(\lambda) = 0$, there exist scalars $\alpha_1, \alpha_2, \dots, \alpha_{\kappa-1}, \mu_1, \mu_2, \dots, \mu_{\kappa-1}, u_\kappa$ and a vector $X_\kappa \in s_d$ such that $\forall Y \in s_1$ equation (17) admits infinitely many solutions in s_d which can be written

$$(30) \quad X = X_0 + \left(X_\kappa + \sum_{i=1}^{\kappa-1} \alpha_i e_i \right) u_\kappa + \sum_{i=1}^{\kappa-1} \mu_i e_i.$$

Proof. i) is obvious. Assertion ii). (17) being equivalent to (S), u_κ is the variable and there exist $\alpha_1, \alpha_2, \dots, \alpha_{\kappa-1}, \mu_1, \mu_2, \dots, \mu_{\kappa-1}$ such that

$$u_i = \alpha_i u_\kappa + \mu_i \quad i = 1, 2, \dots, \kappa - 1.$$

Then using (29), the solutions can be written as

$$X = X_0 + \sum_{i=1}^{\kappa-1} (\alpha_i u_\kappa + \mu_i) e_i + u_\kappa X_\kappa,$$

which permits us to make the conclusion. \square

Remark 3. Let ${}^t Y'_\kappa = (y'_{\kappa+1}, y'_{\kappa+2}, \dots)$. Then we see that for every $Y'_\kappa \in s_1$, one can associate a unique $X_0 \in s_d$ and a subspace V of C^κ , such that if $(y'_1, \dots, y'_\kappa) \in V$ equation (17) admits in s_d the solutions $X = X_0 + xW_1 + W_2$, where $W_1 = X_N + \sum_{i=1}^{\kappa-1} \alpha_i e_i$, $W_2 = \sum_{i=1}^{\kappa-1} \mu_i e_i$ for all scalars x .

Remark 4. If we assume that (10), (12) and (13) hold, then Proposition 11 and Corollary 12 remain true if we replace the condition $Y \in s_1$ by $Y \in s_{(1/a_n)_n}$. Note that we do not have necessarily the property of regularity.

3.5. Property of the operator ${}^t(A + B + \lambda I)$, for $\lambda \geq 0$

In this part A and B satisfy (10) and (12). Denote $A + B + \lambda I = (a_{nm})_{n,m \geq 1}$ for short and recall that $l^1 = \{X = (x_n) / \sum_n |x_n| < \infty\}$, then we have

Proposition 12. Assume that for a real $\lambda \geq 0$

$$(31) \quad [Ker(A + B + \lambda I)] \cap D(A) \cap D(B) \neq \{0\},$$

there exists a non-empty set $I \subset N^*$ such that $\forall b \neq 0$, the equation

$$(32) \quad {}^t(A + B + \lambda I)X = b^t e_{n_0} \quad n_0 \in I,$$

does not admit any solution in l^1 .

Proof. Let $Z = (z_n)$ be a non-zero element of $[Ker(A+B+\lambda I)] \cap D(A) \cap D(B)$ and denote $I = \{n \in N^* / z_n \neq 0\}$. Then for all $\chi = (\chi_n) \in l^1$ we have

$$\sum_{n=1}^{\infty} \chi_n \left(\sum_{m=1}^{\infty} a_{nm} z_m \right) = 0,$$

and using the fact that $Z \in s_d$ we deduce that there exists $K > 0$ such that for every $n \geq 2$

$$\sum_{m=1}^{\infty} |a_{nm}| |z_m| |\chi_n| \leq K (|\gamma_n| d_{n-1} + \nu_n d_n + |b_n| d_{n+1}) |\chi_n|;$$

and, since the series $\sum_{n=2}^{\infty} |\gamma_n| d_{n-1} |\chi_n|$, $\sum_{n=2}^{\infty} \nu_n d_n |\chi_n|$, $\sum_{n=2}^{\infty} |b_n| d_{n+1} |\chi_n|$ are convergent we deduce that

$$\sum_{n=1}^{\infty} \sum_{m=1}^{\infty} |a_{nm}| |z_m| |\chi_n| < \infty.$$

Thus

$$\sum_{n=1}^{\infty} \chi_n \left(\sum_{m=1}^{\infty} a_{nm} z_m \right) = \sum_{m=1}^{\infty} z_m \left(\sum_{n=1}^{\infty} a_{nm} \chi_n \right) = 0.$$

Now let (τ_n) be a sequence such that for an integer $n_0 \in I$, $\tau_{n_0} \neq 0$, the other terms being equal to 0. If the system

$$\sum_{n=1}^{\infty} a_{nm} \chi_n = \tau_m \quad m = 1, 2, \dots$$

would admit a solution $\chi = (\chi_n)$ in the space l^1 we should have

$$\sum_{m=1}^{\infty} z_m \left(\sum_{n=1}^{\infty} a_{nm} \chi_n \right) = z_{n_0} \tau_{n_0} \neq 0,$$

which is contradictory. This completes the proof. \square

Remark 5. We see applying the proposition that if equation

$${}^t(A+B+\lambda I)X = Y, \quad (\forall Y \in s_1),$$

admits a solution in l^1 it has not a solution any more when the n -th term of Y , $n \in I$, is modified. Indeed, let $n_0 \in I$ and denote by Y' the matrix obtained from Y by replacing the n_0 -th coefficient by another one. If the equation ${}^t(A+B+\lambda I)X = Y'$ admitted a solution in l^1 the equation ${}^t(A+B+\lambda I)X = Y$ would not admit any solution, since $Y' - Y$ is of the form $b^t e_{n_0}$, $b \neq 0$.

Remark 6. *An important case is the one when $A + B + \lambda I$ is symmetric (see [17]).*

Remark 7. *Let us give an example of matrices A and B satisfying (31). Put $a_n = 2^n$ and $\beta_{2n} = 1$ for all $n \geq 1$; $\beta_{2n+1} = (2n+1)!$ for all $n \geq 0$; $b_1 = 3$, $\gamma_2 = 5$, $b_2 = 0$ and $b_n = \gamma_n = 0$ for all $n \geq 3$. Then we see that for $\lambda = 0$, $\Delta(\lambda) = 0$ and $[Ker(A+B)] \cap D(A) \cap D(B)$ is the space of all sequences defined by ${}^tX = (x, -x, 0, \dots)$ for all scalars x .*

References

- [1] Da Prato, G., Grisvard, P., Sommes d'opérateurs linéaires et équations différentielles opérationnelles. *J. Math. Pures Appl.* IX Ser. 54 (1975), 305–387.
- [2] Grisvard, P., Commutativité de deux foncteurs d'interpolation et applications. *J. Math. Pures Appl.* 45 (1966), 143–190.
- [3] Furman, M., Sums of operators of parabolic type in a Hilbert space; strict solutions and maximal regularity. *Advances in Mathematical Sciences and Applications*, Gakkōtoshō, Tokyo, 4(1) (1994), 1–34.
- [4] Kato, T., *Perturbation Theory for Linear Operators*, Springer, 1966.
- [5] Labbas, R., de Malafosse, B., On some Banach algebra of infinite matrices and applications. *Demonstratio Mathematica* 31 (1998), 153–168.
- [6] Labbas, R., de Malafosse, B., An application of the sum of linear operators in infinite matrix theory. *Faculté des Sciences de l'Université d'Ankara, Series A1 Mathematics and Statistics* 46 (1997), 191–210.
- [7] Labbas, R., Terrini, B., Sommes d'opérateurs linéaires de type parabolique, 1ère partie. *Boll. Un. Mat. Italiana*, (7), 1-B (1987), 545–569.
- [8] Labbas, R., Terrini, B., Sommes d'opérateurs linéaires de type parabolique. 2ème partie. *Boll. Un. Mat. Italiana*, (7), 2-B (1988), 141–162.
- [9] Maddox, I. J., *Infinite matrices of operators*, Springer-Verlag, Berlin, Heidelberg and New York, 1980.
- [10] de Malafosse, B., Bases in sequences spaces and expansion of a function in a series of power series. *Matematicki Vesnik*, 52(3–4) (2000), 99–112.
- [11] de Malafosse, B., Properties of some sets of sequences and application to the spaces of bounded difference sequences of order μ . *Hokkaido Mathematical Journal*, 31 (2002), 283–299.
- [12] de Malafosse, B., Recent results in the infinite matrix theory and application to Hill equation. *Demonstratio Mathematica*, 35(1) (2002), 11–26.
- [13] de Malafosse, B., On the spectrum of the Cesàro operator in the space s_r . *Faculté des Sciences de l'Université d'Ankara, Series A1 Mathematics and Statistics*, 48 (1999), 53–71.
- [14] de Malafosse, B., Malkowsky, E., Sequence spaces and inverse of an infinite matrix. *Rend. del Circ. Mat. di Palermo. Serie II, Vol 51* (2002), 277–294.

- [15] de Malafosse, B., Application of the sum of operators in the commutative case to the infinite matrix theory. *Soochow Journal of Mathematics*, 27(4) (2001), 405–421.
- [16] de Malafosse, B., Systèmes linéaires infinis admettant une infinité de solutions. *Atti Accademia Peloritana dei Pericolanti di Messina, Classe I di Scienze Fis. Mat. e Nat.* 65 (1987), 49–59.
- [17] Mascart, H, de Malafosse, B., Systèmes linéaires infinis symétriques. *Atti Accademia Peloritana dei Pericolanti di Messina, Classe I di Scienze Fis. Mat. e Nat.* 65 (1987), 43–47.
- [18] Pazy, A., *Semigroups of linear operators and applications to partial differential equations*, Springer 1983.

Received by the editors April 1, 2002